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)Dnw tle shucturc of the following molecules
a. (2S, 3R)- 2-bromo-3-chloropentane
b. (S)- 2-chlorohexane

(ii)Label each pair of structurcs as one of the followiDg: constitutional isomem, enandome.s,
diastereome$, or idettical (includes conformers). Justify your answer.
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b. Draw a Newmatl plojection about the C2-C3 bond for a staggered conformer thatis

highel in eoergy than the conformer you drew in part a.

2. (i) a. Draw the lower energy conformer of the cis geometdc isomer of this compourtd f
the purposes or rhis probrem, assume rhat 

;11::;;::", 

."" .* 
"r,"", 

I

b. Dra\ lhe lou er ene'gy conlo'm. ", 
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(ii) a. Wdte do\tn the assumptions made in deriving the kinetic molecular th.orl ot gas 
l

b. Derjve the equatio nPY = /^Nc' I
Where m=mass of a molecule of gas N=Number of molecules of rhe84

i,=l'Jl'^'1",0""." "",""n, 
V=volume 
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